BID SUMMARY November 1, 2010

1. No. CC101101-02.1 – 6th Street Pedestrian Crossing, Project No ST10-1865/CIP No. 50807 (Opened on October 26, 2010)

ADVERTISING AUTHORITY	\$185,000.00
ENGINEER'S ESTIMATE	\$206,000.00
 KRM Concrete** Complete Concrete, Inc. ** Heavy Constructors, Inc.** R.C.S. Construction, Inc. ** Stanley J Johnsen Concrete Contractor, Inc.** Tru-Form Construction, Inc.** 	\$192,292.10 \$251,233.29 \$300,167.51 \$369,638.00 \$206,222.85 \$233,326.80

^{**} Bid Bond Submitted

2. No. CC101101-02.2 – 2010 Annual Fire Hydrant Installation Project, Project No. W10-1875/CIP No. 50808 (Opened on October 26, 2010)

ADVERTISING AUTHORITY ENGINEER'S ESTIMATE

\$25,000.00 \$28,800.00

	Base Bid	Alternate 1	Alternate 2
Main Line Contracting, Inc.**	\$28,228.00	\$13,851.00	\$13,113.00
R.C.S. Construction, Inc.**	\$44,178.00	\$13,060.50	\$10,346.50
Hills Materials Company**	\$29,559.00	\$15,497.00	\$14,767.00
Simon Contractors of SD, Inc.**	\$43,108.00	\$18,379.50	\$17,984.50

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: October 26, 2010

PROJECT: 6th Street Pedestrian Crossing

Project No. ST10-1865 / CIP No. 50807

RECOMMENDATION: Award Total Bid in the amount of \$192,292.10 to KRM Concrete, LLC at the November 1, 2010 Council Meeting.

BIDDERS' SUMMARY

CONTRACTORS	TOTAL BID
KRM Concrete, LLC	\$192,292.10
Stanley Johnsen Concrete	
Contractor, Inc	\$206,222.85
Tru-Form Construction, Inc	\$233,326.80
Complete Concrete, Inc	\$251,233.29
Heavy Constructors, Inc	\$300,167.51
R.C.S. Construction, Inc	\$369,638.00

City staff recommends awarding this project to KRM Concrete, LLC for a total bid amount of \$ 192,292.10 based on unit pricing with the following appropriation:

FUNDING SOURCE	TOTAL	Streets
ADVERTISING AUTHORITY	\$185,000.00	\$
ENGINEER'S ESTIMATE	\$206,000.00	\$

APPROPRIATION DATA:

FUNDING SOURCE	TOTAL	Street
COST CENTER		8910
LINE ITEM		4370
FUNDING CENTER	A440	0505
BID AMOUNT	\$192,292.10	\$192,292.10

CONSULTANT:	DATE: 10/27(10)
Terry Cash, PE Dream Design International, Inc.	
PROJECT MANAGER: Todal Tackosh	DATE:

Todd Peckosh, PE City of Rapid City

BID TABULATION

6th Street Pedestrian Crossing PROJECT NO. ST10-1865 / CIP NO. 50807

BID LETTING DATE: October 26, 2010

				ENGINEER'	S ESTIMATE	KRM CON	KRM CONCRETE LLC		J JOHNSEN CRETE CTOR INC		FORM: ICTION INC	1	CONCRETE	HE/ CONSTRU	AVY CTORS INC	R.C.S. CONSTRUCTION INC	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
1_	MOBILIZATION	LS	1.00	\$ 8,000.00	\$8,000.00	\$6,200.00	\$6,200.00	\$16,720.00	\$16,720.00	\$6,700.00	\$6,700.00	\$14,000.00	\$14,000.00	\$22,000.00	\$22,000.00	\$69,000.00	\$69,000.00
2	INCIDENTAL	LS	1.00	\$ 2,000.00	\$2,000.00	\$5,400.00	\$5,400.00	\$7,000.00	\$7,000.00	\$6,000.00	\$6,000.00	\$22,000.00	\$22,000.00	\$8,883.75	\$8,883.75	\$22,500.00	\$22,500.00
3	CONSTRUCTION STAKING	LS	1.00	\$ 2,500.00	\$2,500.00	\$5,800.00	\$5,800.00	\$500.00	\$500.00	\$5,500.00	\$5,500.00	\$2,300.00	\$2,300.00	\$6,396.30	\$6 <u>,396</u> .30	\$7,300.00	\$7,300.00
4	CLEARING & GRUBBING	LS	1.00	\$ 1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$360,00	\$360.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$1,184.50	\$1,184.50	\$2,100.00	\$2,100.00
5	REMOVE TYPE "B" GRATE REMOVE & SALVAGE LIGHT POLE	EA	1.00	\$ 240.00	\$240.00	\$200,00	\$200.00	\$200,00	\$200.00	\$400.00	\$400.00	\$100.00	\$100.00	\$592.25	\$592.25	\$140.00	\$140.00
. 6	AND TRAFFIC SIGNAL MAST, COMPLETE	EA	2.00	\$ 500.00	\$1,000.00	\$800,00	\$1,600.00	\$1,980.00	\$3,960.00	\$2,200.00	\$4,400.00	\$2,070.00	\$4,140.00	\$698.86	\$1,397.72	\$1,200.00	\$2,400.00
7	REMOVE & SALVAGE PEDESTRIAN CROSSWALK LIGHT	EA	3.00	\$ 200.00	\$600.00	\$265.00	\$795.00	\$396.00	\$1,188.00	\$400.00	\$1,200.00	\$414.00	\$1,242.00	\$270.07	\$810.21	\$400.00	\$1,200.00
8	SAWING, CONCRETE PAVEMENT / CURB & GUTTER	LF	305.00	\$ 3.75	\$1,143.75	\$2.50	\$762.50	\$4.30	\$1, 311.50	\$4.00	\$1,220.00	\$3.00	\$915.00	\$1.78	\$542.90	\$2.00	\$610,00
9	SAWING, CONCRETE SIDEWALK	LF	74:00	\$ 2.50	\$185.00	\$2.00	\$14 8.00	\$4.00	\$296.00	\$4.00	\$296.00	\$2.00	\$148.00	\$1,78	\$131.72	\$2.00	\$148.00
_10	REMOVE PCC PAVEMENT	SY	410.00	\$ 15.00	\$6,150.00	\$22.00	\$9,020.00	\$8.70	\$3,567.00	\$30.00	\$12,300.00	\$17.5 <u>0</u>	\$7,175.00	\$8.29	\$3,398.90	\$3.00	\$1,230.00
11	REMOVE PCC MEDIAN PAVEMENT	SY	275.00	\$ 25.00	\$6,875.00	\$22.00	\$6,050.00	\$4,15	\$1,141.25	\$25.00	\$6,875.00	\$14.00	\$3,850.00	\$8,29	\$2,279.75	\$3,00	\$825.00
12	REMOVE PCC PANEL	SY	16.00	\$ 15.00	\$240.00	\$24.00	\$384,00	\$50,00	\$800.00	\$35,00	\$560.00	\$60.00	\$960.00	\$8,29	\$132.64	\$2,00	\$32.00
13	REMOVE CONCRETE CURB & GUTTER	LF_	335,00	\$ 7.00	\$2,345.00	\$6.00	\$2,010.00	\$6.50	\$2,177.50	\$15.00	\$5,025.00	\$12.00	\$4,020.00	\$5.92	\$1,983.20	\$2.00	\$670.00
14	REMOVE CONCRETE FILLET & PAN	EA	1.00	\$ 3,000.00	\$3,000.00	\$500.00	\$500.00	\$1,760.00	- \$1,760.00	\$600.00	\$600.00	\$850.00	\$850.00	\$414.58	\$414.58	\$320,00	\$320.00
15	REMOVE PCC SIDEWALK	SY	231,00	\$ 6.25	\$1,443.75	\$6.50	\$1,501.50	\$10.50	\$2,425.50	\$15.00	\$3,465.00	\$20.00	\$4,620.00	\$8.29	\$1,914.99	\$2.00	\$462.00
16	REMOVE RETAINING WALL	ĹF	50.00	\$ 90.00	\$4,500.00	\$5.00	\$250,00	\$5.30	\$265.00	\$35.00	\$1,750.00	\$60.00	\$3,000.00	\$11.85	\$592.50	\$ 540.00	\$27,000.00

				ENGINEER'	ENGINEER'S ESTIMATE		CRETE LLC	CON	J JOHNSEN CRETE CTOR INC		FORM ICTION INC	l	CONCRETE IC	HEA CONSTRUC	AVY CTORS INC	1	STRUCTION NC
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
17	REMOVE LIGHT POLE FOOTING	EA	8.00	\$ 200.00	\$1,600.00	\$75.00	\$600.00	\$220.00	\$1,760.00	\$375.00	\$3,000.00	\$402.50	\$3,220.00	\$592.25	\$4,738.00	\$234.00	\$1,872.00
18	REMOVE & SALVAGE LIGHT POLE, COMPLETE	EA	2.00	\$ 350.00	\$700.00	\$700,00	\$1,400.00	\$550.00	\$1,100.00	\$600.00	\$1,200.00	\$575.00	\$1,150.00	\$272.44	\$ 544.88	\$1,100.00	\$2,200.00
19	REMOVE PAVEMENT MARKING, STRIPES	LF	1,585.00	\$ 1,25	\$ 1,981.25	\$1.60	\$2,536.00	\$0.90	\$1,426.50	\$1.00	\$1,585.00	\$0.92	\$1,458.20	\$0.89	\$1,410.65	\$2.00	\$3.170.00
20	REMOVE PAVEMENT MARKING, ARROW	EA	4.00	\$ 75,00	\$300.00	\$52.00	\$208.00	\$82.50	\$330.00	\$100.00	\$400.00		.,		\$118.44	\$80,00	7-1
21	AASHTO T-180 SOIL TEST	EA	3.00	\$ 220.00	\$660.00		\$750,00	,	\$405.00	7		1	•			,	
							·				\$900.00		\$300.00	\$236,90	\$710.70	\$200.00	\$600.00
	MODIFIED PROCTOR SOIL TEST	EA	1.00	\$ 200.00	\$200.00	\$450.00	\$450.00	\$135.00	\$135.00	\$175.00	\$175.00	\$290,00	\$290.00	\$355,35	\$355.35	\$280.00	\$280,00
23	EXCAVATION, UNCLASSIFIED TOPSOIL & COMPOST MIXTURE.	CY	200.00	\$ 5.00	\$1,000.00	\$6.00	\$1,200.00	\$20.00	\$4,000.00	\$8.00	\$1,600.00	\$10,00	\$2,000.00	\$17.77	\$3,554.00	\$6.00	\$1,200.00
24	FURNISH & PLACE	CY	95.00	\$ 30.00	\$2,850.00	\$35.00	\$3,325,00	\$38.50	\$3,657.50	\$45.00	\$4,275.00	\$20.00	\$1,900.00	\$41.46	\$3,938.70	\$56.00	\$5,320.00
	SEEDING, FERTILIZING, MULCHING, & IRRIGATION C4	SY	800.00	\$ 2.00	\$1,600.00	\$3.10	\$2,480.00	\$3.30	\$2,640.00	\$3.75	\$3,000,00	\$ 17.50	\$14,000.00	\$3,55	\$2,840.00	\$5.00	\$4,000.00
26	3'x 4' DROP INLET COVER	EA	1.00	\$ 600.00	\$600,00	\$1,200.00	\$1,200.00	\$365.00	\$365.00	\$875.00	\$875,00	\$300,00	\$300.00	\$1,184.50	\$1,184.50	, \$560.00	\$560.00
27	5.5X5.5 TYPE B INLET	EA	1.00	\$ 3,500.00	\$3,500.00	\$2 <u>,250.00</u>	\$2,250,00	\$5,500.00	\$5,500.00	\$4,500.00	\$4,500.00	\$5,500.00	\$5,500.00	\$6,514.75	\$6,514,75	\$4,000.00	\$4,000.00
28	EROSION AND WATER POLLUTION CONTROL	LS	1.00	\$ 2,000,00	\$2,000,00	\$750.00	\$750.00	\$1,500.00	\$1,500,00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$1,776.75	\$1,776,75	\$1,450.00	\$1,450.00
29	9" WATTLES	LF	334,00	\$ 6,25	\$2,087,50	\$4.00		\$5,50	\$1,837.00		\$2,338.00	\$2.20	\$734.80	. ,		4.,	
	EROSION CONTROL, INLET	EA		\$ 135.00	\$1,620.00	\$180.00	\$2,160.00	\$170.00	\$2,040.00		\$1,440.00	\$300.00			\$1,977.28		
	CONCRETE WASHOUT AREA	EA		-									\$3,600,00		\$2,132.16		
	PCC PAVEMENT, MEDIAN PAVING			\$ 450.00	\$450.00	\$800.00					*\$500.00		\$500.00		\$5,922.50	\$550.00	\$550,00
	4" - COLORED PCC PAVEMENT, MEDIAN, 4",	SF	2,906.00	-	\$23,248.00		\$13,222.30		\$14,530.00	\$6.50	\$18,889.00	\$5,00	\$14,530.00	\$11.48	\$33,360.88	\$9.00	\$26,154.00
	COLORED/STAMPED (planter) PCC PAVEMENT PANEL REPLACEMENT, 10" -	SF	898.00		\$7,184.00	\$12.00	\$10,776.00	\$13.00	\$11,674.00	\$8.50	\$7,633.00	\$10.00	\$8,980.00	\$15.03	\$1 3,496,94	\$13.00	\$11,674.00
34	UNREINFORCED	SY	18.00	\$ 100.00	\$1,800.00	\$50.00	\$900.00	\$120.00	\$2,160.00	\$120.00	\$2,160.00	\$100.00	\$1,800.00	\$118.4 5	\$2,132.10	\$98.00	\$1,764.00

				ENGINEER'	NGINEER'S ESTIMATE KRM CONCRETE LLC			CON	J JOHNSEN CRETE CTOR INC		FORM ICTION INC	t	CONCRETE	HEA CONSTRUC	AVY CTORS INC	l	ISTRUCTION NC
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
35	AGGREGATE BASE COURSE, 3/4"	Т	100.00	\$ 21.00	\$2,100.00	\$16.00	\$1,600.00	\$35,00	\$3,500.00	\$30.00	\$3,000.00	\$18.00	\$1,800.00	\$29.61	\$2,961.00	\$23.00	\$2,300.00
36	CONCRETE CURB & GUTTER, TYPE B6-10	LF	365.00	\$ 19.00	\$6,935.00	\$22.00	\$8,030.00	\$30.00	\$10,950.00	\$22.00	\$8,030.00	\$40.00	\$14,600.00	\$24.21	\$8,836.65	\$26.00	\$9,490.00
37	CONCRETE FILLET & PAN, 10" REINFORCED	SY	48.00	\$ 90.00	\$4,320.00	\$68.50	\$3,288.00	\$90.00	\$ 4,320.00	\$90.00	\$4,320.00	\$100.00	\$4,800.00	\$112.53	\$5,401.44	\$90.00	\$4,320.00
38	CONCRETE SIDEWALK, 4" REINFORCED (with gravel cushion)	SF	2,307.00	\$ 5.00	\$11,535.00	\$4.15	\$9,574.05	\$4,20	\$9,689.40	\$5.50	\$12,688.50	\$5.00	\$11,535.0 0	\$11.85	\$27,337.95	\$7.00	\$16,149.00
39_	CONCRETE SIDEWALK, 4", COLORED (with gravel cushion)	SF	676.00	\$ 6.00	\$4,056.00	\$4.30	\$2,906.80	\$4.85	\$3,278.60	\$7,00	\$4,732.00	\$7.00	\$4,732.00	\$11.48	\$7,760.48	\$8.00	\$5,408.00
40	CONCRETE SIDEWALK, 4", ACCESS RAMP	SF	290.00	\$ 8.00	\$2,320.00	\$4.85	\$1,406.50	\$4.40	\$1,276.00	\$7.00	\$2,030.00	\$5.00	\$1,450.00	\$11.85	\$3,436.50	\$11.00	\$3,190.00
41	DETECTABLE WARNING PANEL	SF	40.00	\$ 60.00	\$2,400.00	\$25.00	\$1,000.00	\$35.00	\$1,400.00	\$50.00	\$2,000.00	\$32.00	\$1,280.00	\$65,15	\$2,606.00	\$60,00	
42	CONCRETE TYPE C RETAINING WALL (0-2')	ŁF_	108.00	\$ 50.00	\$5,400.00	\$16.00	\$1,728.00	\$30.00	\$3,240.00	\$65.00	\$7,020.00	\$47.00	\$5,076.00	\$94.76	\$10,234.08	\$15.00	
43	IRRIGATION CONDUIT - 2" PVC SCH 20	LF	105.00	\$ 2.00	\$210.00	\$6.25	\$656.25	\$6.60	\$693.00	\$7.50	\$787.50	\$5.00	\$525,00	\$7.11	\$746.55		
44_	INCIDENTAL WORK (ELECTRICAL)	LS	1.00	\$ 10,000:00	\$10,000.00	\$16,500.00	\$16,500,00	\$1,760.00	\$1,760,00	\$1,900.00	\$1,900.00	\$1,840.00		\$14,687.80			,
45	2' DIAMETER FOOTING	LF.	41.00	\$ 110.00	\$4,510.00	\$96,00				\$140.00	\$5,740,00				\$4,856.45		
46	3' DIAMETER FOOTING	LF	26,00	\$ 190.00	\$4,940,00	\$112.00	\$2,912,00		. ,	\$195,00	\$5.070.00				\$3,541.72	·	
47	PEDESTRIAN CROSSING SIGN (R10- 3E), 3RT, 1LT	EΑ	4.00	\$ 50.00	\$200,00	\$105.00	\$420,00	\$70.00	\$280.00	\$80,00	\$320.00				\$236.92		
48	3-SECTION VEHICLE SIGNAL HEAD W/RIGHT ARROWS (13-14)	EA	2.00	\$ 1,100.00	\$2,200.00	\$670.00	= 				\$1,900.00	\$910.80				\$1.074.00	
	PEDESTRIAN SIGNAL HEAD (9-12) LED TYPE COUNTDOWN	EA		\$ 750.00	. ,					·	\$3,400.00		,			* 1	7=1
	PEDESTAL SIGNAL POLE	EA		\$ 2,500.00	\$7,500.00				\$3,150.00					\$1,184.50		\$1,100.00	
	PRE-FORMED DETECTOR LOOP	EA		\$ 570.00	\$1,140.00	\$652.00	•						\$3,308.55 \$1,828.50		•		
	PEDESTRIAN PB POLE	EA		\$ 500.00	\$500,00	\$214.00	•				\$1,800.00				\$1,101.58 \$396.81		

				EN	NGINEER'	S ESTIMATE	KŖM CON	CRETE LLC	CONC	JOHNSEN CRETE CTOR INC		FORM ICTION INC	COMPLETE CONCRETE		HEAVY CONSTRUCTORS INC		R.C.S. CONSTRUCTION INC	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UN.	NT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
53	24" NON-METALLIC JUNCTION BOX	ΕA	4.00	\$	635.00	\$2,540.00	\$293.00	\$1,172.00	\$475.00	\$1,900.00	\$530,00	\$2,120.00	\$494.50	\$1,978.00	\$710.70	\$2,842.80	\$470.00	\$1,880.00
54	2" RIGID CONDUIT, SCHEDULE 40	LF	470.00	\$	3,50	\$1,645.00	\$5.00	\$2,350.00	\$3.75	\$1,762.50	\$4.00	\$1,880.00	\$3.91	\$1,837.70	\$ 4.15	\$1,950.50	\$8.00	\$3,760.00
55	BORING UNDER EXISTING ROADWAY	LF_	140.00	\$	15.00	\$2,100.00	\$21.10	\$2,954.00	\$27.50	\$3,850.00	\$35.00	\$4,900.00	\$28.75	\$4,025.00	\$23.69	\$3,316.60	\$34.00	\$ 4,760.00
56	3" RIGID CONDUIT, SCHEDULE 80	LF	140.00	\$	7.20	\$1,008.00	\$14.65	\$2,051.00	\$5,50	\$770.00	\$6.50	\$910.00	\$5.75	\$805.00	\$3. 08	\$431,20	\$9.00	\$1,260.00
57	4" RIGID CONDUIT, SCHEDULE 40	LF	80.00	\$	10.00	\$800.00	\$5.90	\$472.00	\$4.40	\$352,00	\$5.00	\$400.00	\$4.60	\$368.00	\$6.46	\$516.80	\$23.00	\$1,840.00
58	1/C #6 AWG COPPER WIRE	LF	250.00	\$	1,02	\$255.00	\$1.20	\$300.00	\$1.00	\$250.00	\$1.20	\$300.00	\$1.04	\$260.00	\$0.83	\$207,50	\$2.00	\$500.00
59	1/C #10 AWG COPPER WIRE (PULL WIRE)	LF	320,00	\$	0.50	\$160.00	\$0.70	\$224.00	\$0,55	\$176.00	\$0.75	\$240.00	\$0.58	\$185.60	\$0,47	\$150.40	\$1.00	\$320.00
60	3" RIGID CONDUIT, SCHEDULE 40	LF	60.00	\$	5.00	\$300.00	\$9.75	\$585.00	\$4.20	\$2 52.00	\$4.50	\$270.00	\$4.37	\$262:20	\$6.63	\$397.80	\$15,00	\$900.00
61	26/C #14 AWG COPPER TRAY CABLE, K2	_LF	170.00	\$	5.00	\$850.00	\$4.07	\$691.90	\$6.60	\$1,122.0 0	\$7.00	\$1,190.00	\$6.90	\$1,173.00	\$6.28	\$1,067.60	\$7.00	\$1,190.00
62	19/C #14 AWG COPPER TRAY CABLE, K2	LF	500.00	\$	3.50	\$1,750.00	\$2.90	\$1,450.00	` \$5.50	\$2,750.00	\$6.00	\$3,000.00	\$ 5.75	\$2,875.00	\$4.44	\$2,220.00	\$5.00	\$2,500.00
63_	7/C #14 AWG COPPER TRAY CABLE, K2	LF	450.00	\$	1.55	\$697.50	\$ 1.65	\$742.50	\$2.05	\$922.50	\$2.50	\$1,125.00	\$2.13	\$958.50	\$1.78	\$801.00	\$3.00	\$1,350.00
64	3/C #14 AWG COPPER TRAY CABLE, K2	ĻF	200.00	\$	1.02	\$204.00	\$0.70	\$140.00	\$1.35	\$270.00	\$1.65	\$330.00	\$1.38	\$27 6.00	\$0,95	\$190.00	\$1.00	\$200.00
65	2/C #18 TWISTED SHD PAIR	LF	260.00	\$	0.66	\$171.60	\$0.60	\$156.00	\$ 1.10	\$286.00	\$1,25	\$325.00	\$1.13	\$293.80	\$0.71	\$184.60	\$1.00	\$260.00
66	3/C #18 TWISTED SHD PAIR	LF	370.00	\$	0.66	\$244.20	\$0.65	\$240.50	\$1.10	\$407.00	\$1.25	\$462.50	\$1.15	\$425.50	\$0.77	\$284.90	\$1.00	\$370.00
67	2/C #16 TWISTED SHD PAIR	LF	370.00	\$	0,66	\$244.20	\$0.55	\$203.50	\$1,10	\$407,00	\$1.25	\$462.50	\$1.15	\$425.50	\$0.59	\$218.30	\$1,00	\$370.00
68	48 STRAND-FIBER OPTIC CABEL	ĻF	300.00	\$	5,00	\$1,500.00	\$6.02	\$1,806.00	\$8.80	\$2,640.00	\$10.00	\$3,000.00	\$9.20	\$2,760.00	\$18.60	\$5,580.00	\$10.00	\$3,000.00
69	#4 1/C #4 AWG COPPER	LF ·	100.00	\$	1.50	\$150.00	\$1.40	\$140.00	\$1.35	\$135.00	\$1 <u>.</u> 50	\$150.00	\$1.38	\$138.00	\$1.42	\$142.00	\$2.00	\$200,00
70	COLD APPLIED PLASTIC PAVEMENT MARKING, 4"	LF	1,216.00	\$	3.00	\$3,648.00	\$2.95	\$3,587.20	\$3.85	\$4,681.60	\$4.00	\$4,864.00	\$4.03	\$4,900.48	\$2 .96	\$3,599.36	\$ 5.00	\$6,080.00

				ENGINEER	S ESTIMATE	KRM CON	KRM CONCRETE LLC		J JOHNSEN CRETE CTOR INC		TRU-FORM CONSTRUCTION INC		COMPLETE CONCRETE		HEAVY CONSTRUCTORS INC		ISTRUCTION NC
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
1	COLD APPLIED PLASTIC PAVEMENT MARKING, 12"	<u>LF</u>	249.00	\$ 9.00	\$2,241.00	\$10.25	\$2,552.25	\$7.70	\$1,917.30	\$7.50	\$1,867.50	\$8.05	\$2,004.45	\$8.59	\$2,138.91	\$16.00	\$3,984.00
72	COLD APPLIED PLASTIC PAVEMENT MARKING, 24"	LF	382,00	\$ 17.50	\$6,685.00	\$18.25	\$6,971.50	\$13.20	\$5,042 .40	\$15.00	\$ 5,730.00	\$13.80	\$5,271.60	\$22.80	\$8,709.60	\$29.00	\$11,078.00
73	GROOVE FOR COLD APPLIED PLASTIC MARKING, 4"	LF	1,216.00	\$ 0.65	\$790.40	\$0.70	\$851.20	\$0.45	\$547.20	\$0.55	\$668.80	\$0.46	\$559.36	\$0.65	\$790.40	\$1.00	\$1,216.00
74	GROOVE FOR COLD APPLIED PLASTIC MARKING, 12"	LF	249.00	\$ 2.50	\$622.50	\$5.15	\$ 1,282.35	\$2.20	\$547.80	\$2,50	\$622.50	\$2.30	\$572,70	\$1.78		,	
75	GROOVE FOR COLD APPLIED PLASTIC MARKING, 24"	LF	382.00	\$ 4.50	\$1,719.00	\$8,15	\$3 ,113.30	\$4.40	\$1,680.80	\$5.00	\$1,910.00	\$4.60	\$1,757.20	\$3.55		,	
76	TRAFFIC CONTROL	LS	1.00	\$ 6,500.00	\$6,500.00	\$8,000.00	\$8,000.00	\$10,560.00	\$10,560.00	\$11,600.00	\$11,600.00	\$11,040.00	\$11.040.00	\$19.899.60		\$12,500.00	7.11
77	TRAFFIC CONTROL PLAN	LS	1.00	\$ 800.00	\$800.00	\$900,00	\$900.00	\$1,540.00		\$2,000.00		\$1,610,00		\$1,184.50		\$1,290.00	
	TOTALS		·		\$205,994.65		\$192,292.10		\$206,222.85		\$233,326.80		\$251,237.27		\$300,184.71		\$369,638.00

CONSULTANT

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

(Consultant's Name), PE CITY OF RAPID CITY Reviewed by:

10/28/10

Contract awarded to KRM Concrete, LLC in the amount of \$192,292.10 at the November 1, 2010 Council Meeting.

EXHIBIT

DMAHA PEDESTRIAN CROSSING RELOCATION
PROJECT# ST10-1865
CIP 50807

